 veois

V Axial piston pump

V Series axial piston pump

ouT

nominal(rated) pressure: 175 bar
max. pressure:250 bar / 6ms

1.V Series pump,new design for changeable angle of swash
plate,wide applications.
2.Special design,low noise level during full pressure time.
3.Modular control,easy to design system,adventages

are:power saving,small size,low cost.
4.Low power comsuming,low oil temperature rising,suitable
application for assembling small power units.

L 1000 ms = 1 sec.
Specifications
Displacement at (7 bar) 100 PSI Pressure Adi. Speed Weight
Size | Model ey Indirev 1500 RPM 1800 RPM kgflom? Max. | Min. KG
LPM us.GPM| LPM U.S.GPM RPM | RPM (LB)
V8 80 048 120 3.17 144 3.8 13 (28.6)
V10 | 10.0 0.61 15.0 3.90 18.0 4.76 13 (28.6)
1 vi2 | 120 073 180 476 216 573 13 (28.6)
V15 | 150 0.90 | 225 5.78 27.0 7.05 1:8~70 13 (28.6)
2: 15~140
V18 | 17.8 1.09 | 26.7 7.05 32.0 845 13 (28.6)
V23 23.0 1.40 354 9.1 414 10.94 22 (48.4)
2 4: 20~250
V25 | 250 152 | 375 9.66 450 11.60 22 (48.4)
3 V38 | 378 2.31 56.7 14.98 68.0 17.96 26 (57.2)
V42 | 420 256 | 63.0 16.23 76.0 19.58 26 (57.2)
V50 | 515 314 | 77.2 20.37 927 24.48 1: 8~70 56 (123.2)
4 2: 15~140
V70 | 69.7 425 1045 276 | 1254 33.10 3-20~210 56 (123.2)

1.Install outlet on top,the pipe pressure needs less than 2bar.
2.Using at max pressure,please undre 6 seconds for per-cycle time.
3.Hydraulic oil clean,please following YEOSHE instruction manual.
4. YEOSHE supply combinable pumps with different series,standard with Metric / SAE size.

dwnd uoisid [eixy A ﬂ

www.yeoshehydraulic.com



dwnd uojsid [eixy A a

www.yeoshehydraulic.com

Type code for standard program %

vislaladef | B | | | | [
1 2 3 4 3 6 7 8 9 10 1 12 13 14

Series  Size and Control  Pressure Rotation Direction of Shaft type Voltage Threads Thrudrive & Special Mounting Seals Design No.
displacement device  adjusting pipe type 2ndpump  spec.
connections

Series
Axial piston pump nominal pressure:175 bar
1| variable displacement high max. pressure:280 bar / 6ms \%
pressure version 1000 ms = 1 sec.

Size and displacement

Code 8 10 12 15 18 23 25 38 42 50 70
Size 1 2 3 4

cm’/ rev 8 10 12 15 18 123.0 25.0 37.8|/42.0 51.5 69.7
In’/ rev 0.48 1061|073 090 | 11 140 152 231 256 | 3.14 4.25

2
Displacement

Control device

Standard pressure control A P
Remote pressure control G
Pressure
A Low : 7KG
Load-sensing control Mid : 14KG HLL
High : 21KG
Muti-stage flow & Singe-stage pressure control (with cylinder) B
2-stage pressure & Flow control C
2-stage pressure & Flow control + Remote CG
2-stage pressure & Flow control + Low tension unloading CR
Low tension unloading + Pressure control D
Low tension unloading + Pressure control + Remote DG
Electric 2-stage pressure control E
Electric 2-stage pressure control + Remote EG
3 | Electric 2-stage pressure control & Flow control F
Electric 2-stage pressure control & Flow control + Remote FG
Remote pressure compensator with NG6 interface GM
Remote pressure compensator + Proportional pressure valve GJ
Remote pressure compensator + Electrical unloading GR
Remote pressure compensator + 2-stage pressure control GB
Remote pressure compensator + Electrical unloading + 2-stage pressure control GC
Pressure
Load-sensing compensator Low : 7KG
+ Proportional flow valve S HQL]
+ Relief valve Mid : 14KG
High : 21KG
Pressure
Load-sensing compensator Low : 7KG
+ Proportional pressure valve Mid : 14KG HKL
+ Proportional flow valve .
High : 21KG
m = available - = onrequest % = standardtype / = custom made




B oo

Type code for standard program YELOSHE

vislaladef | B | | | | | |
1 2 3 4 5 6 7 8 9 10 1

Series  Size and Control  Pressure Rotation Direction of Shaft type

displacement device  adjusting pipe

connections

Pressure adjusting

8~70 bar

(0.8~6.9 Mpa)

15~140 bar (1.5~13.7 Mpa)
20~210 bar (2.0~20.6 Mpa)
20~250 bar (2.0~24.5 Mpa )

Rotation

) Clockwise
(. Counter clockwise

Direction of pipe connections

None: Side port (Flange)

10

6 Rear port (Flange) - -
Side port + Rear port (Flange) - | -

Shaft type
Displacement
None
V15,v18
V23,V25
V38,v42
V50,V70

Voltage
None

Key:
Splind shaft: S 13T 16/32 DP

Splind shaft: S 13T 16/32 DP
Splind shaft: ' S 13T 16/32 DP
Splind shaft: S 14T 12/24 DP

AC100V (50/60HZ)
AC110V (60HZ)

8 AC220V (50/60HZ)
AC220V (60HZ)

DC 12V
DC 24V

12 13 14

Voltage Threads Thrudrive & Special Mounting Seals Design No.
type 2ndpump  spec.

B
dwnd uoisid [eixy A ﬂ

12 15 18 23 25 38 42 50 70

Code

S1 9T 16/32DP | S2 11T 16/32 DP
A 81 15T 16/32 DP 2 S3 13T 16/32 DP longer
'S1 15T 16/32 DP | S3 13T 16/32 DP longer
81 17T 12/24 DP

m mooO W >

m = available - = onrequest ¢ = standardtype A = custom made

Copyright@202L-YEOSHE-ALL RIGHT RESERVED.



Type code for standard program %

vislaladef | B | | | | | |
1 2 3 4 <) 6 7 8 9 10 1

12 13 14

A

Series dsiiSZ; :::mem dC;\:::rgl :(;Tjsst?r:: Rotation Ei;;}:::o:fs Shaft type Voltage t';f;v:ads ;:;up%rri;/:& Sseegial Mounting  Seals Design No.
Threads
; PT (RC) [ s = = ® w =w|w = = 10 ¥
b BSPP (G) [ [ [ [ [ [ [ [ [ [ [ 40 P34
Q 9| NPT A A Aol a A A 150
- UNF (SAE o-ring) = = | = |a s |=|=|=]= = 60
'(Q._ Metric A A Al sl . Al A 70
g Thre drive & 2nd pump
o without thru drive L
g @508 mm SAE AA C
S @ 82.55 mm SAEA D
@101.6 mm SAEB E
10 @127 mm F
g 63 mm I
@ 80 mm 3
@100 mm K
@125 mm L
. . . (Plesae contact YEOSHE,if other size required.)
Special specification
Standard type X %
11| Low Pressure type X1
Deahead pressure relief type Z
Mounting
For V15, V18 only code "A" (SAE A 2 bolt type) is available, None L]
V23~70 displacement only "None: standard" is available SAE A 2 bolt A
Seals
. NBR | x
VITON Vv
m = available - = onrequest % = standardtype ~ = custom made

www.yeoshehydraulic.com




Control type

YEOSHE

Controls Symbol Characteristic Specifications
A type . 1.When system pressure increase and reach
Standard present pressure the flow decrease automatically
andard pressure Q and pressure to be constant.
control 2.Pressure and flow can be adjusted manually.
p—>
G type: T 1.The same function gf “A’control type.
R t 2.Pressure can be adjusted remotely by the remote
emote pressure Q control valve.
control R
P—>
HL type A CESTREERERRERES - 1.Hl_tvalve with 2 different pressure,control displace-
. P ment .
Load-sensmg - W ? 2.The flow can be changed by HL valve,the sensing
control Q| feedback can reach low oil temperature and energy
.................. saving.
p—>
B type: 1.Flow can be adjusted from 0 to maximum and
. ouT pressure can be maintaining at preset pressure.
MUt.I'Stage flow T 2.Absorbing impact and vibration which are
& Slnge-stage Q produced by up down motions .
It is suitable for lifting equipment etc.
pressure control
(with cylinder)
p—>
C type: QH 1.2-stage pressure to adjust PL to QH and : PH to
T T me—3 T QL
2-stage pressure LEER —| T)L L 2.When pressure increase and reach preset
& Flow control ‘ - Q | pressure“PH” flow is reduced to“QL".
I 3.Adapt for long dead head and short pressurizing
| machines,speedy and energy saving.
||=|_ o | 4-Pressure "PH"PL",and flow "QH""QL"can be
P—> adjusted optionally.
_ - —
CG type: ’ o= ‘ ?H 1.The same function of “C” control type.
| .
2-stage pressure Ak ! Tl 2.The pressure and the range can be adjusted by
\r——r—_ - Q : remote control valve.
& Flow control b _4“ | 3.Install YEOSHE solenoid control valve to reach
+ Remote ‘ REF : | * || good performance.
I ?& I
(R b PL PH
B i P—>

dwnd uoisid [eixy A ﬂ

Copyright@202L-YEOSHE-ALL RIGHT RESERVED.



Control type

Controls Characteristic

Specifications

CR type:
2-stage pressure
& Flow control

+ Low tension

QH—— /SOL oN
a |

1.Insall YEOSHE solenoid valve,control 2-stage
pressure.

2.1t is suitable for constant speed lifting
equipments,and setting 2-stage working pressure.
3.PL and PH,two opptions can be PH.

+ Pressure control

I
|
|
|
|
|
|
|
1

P—

dwnd uoisid [eixy A a

H L OFF — i
unloadlng e i' - SOL OFF: Low tension unloading
" SOL OFF: 2-stage pressure&flow
D type c T ;.ﬁgmedastnf/pelA and \|Niﬂ11'low tensict>'n unloading.
. : T It is adapt for long unloading operation.
Low teDSIOn i ol corerr  seLewy 3.When the system stops,oil temperature and noise
unloadlng maintain low level while being through the

unloading.

o —

Electric 2-stage

pressure control SOLOFF | SOLON

PL PH

P——

DG type: 1.The same function of “D” control type.
L t . T 2.The pressure and the range can be adjusted by
ow epsmn } remote control valve.
unloading Q| | SOLOFF  sOLON 3.Install YEOSHE solenoid control valve to reach
|
+ Pressure control | < |, | 90od performace.
+ Remote !
I P—> PH
E type: 1.2-stage pressure is controlled by solenoid control

valve.

2.Adapt for constant speed lifting equipments, and
setting 2-stage working pressure.

3.PL and PH,two options can be PH.

o—

EG type: T
Electric 2-stage i

pressure control SOLOFF | SOLON

|
I
+ Remote ey~ <>
|
|

3
PL PH
‘—————zj P—

1.The same function of “E”control type.

2.The pressure and the range can be adjusted by
remote control vavle.

3.Install YEOSHE solenoid control valve to reach
good performance.

F type : QH SOL OFF
Electric 2-stage T o SOL ON
pressure control Q
& Flow control
PL PH
P—>

1.Electric 2-stage pressure & flow control to adjust
PL to QH,PH to QL.

2.Pressure “PL”, “PH” and flow “QH” can be
adjusted optionally.

www.yeoshehydraulic.com




Control type

YEOSHE

Remote pressure

interface.
2.Speedy reactions,stable pressure supply.

Controls Symbol Characteristic Specifications

FG type: o 1.Electric 2-stage pressure & flow control to adjust
Electric 2-st ST PL to QH,PH to QL.

ectric 2-stage 'IIZEﬂN ‘ SOL OFF 2.Pressure can be adjustd by remote control valve.
pressure control —I I an 3.Pressure “PL”, “PH” and flow “QH” can be
& Flow control A ‘ Q% SOLON adjusted optionally.
+ Remote ol s ~ ™

A?Y(E‘: PL PH
—— Yo P—>
ey

GM type: - - ' 1.GM Remote pressure compensator with NG6

compensator with
NG6 interface

3.Adapt for manual or electric control.

GJ type:

Remote pressure

compensator

+ Proportional
pressure valve

1.Same as type “GM” and with proportional
pressure valve.

2.The proportional valve is installed on the NG6
interface to reach proportional electric control to
save energy.

GR type: 1.By adding a relief valve and solenoid control

R t valve on the compensator makes pump have both
emole pressure i,

compensator 2.GR control is for long unloading situations.

+ Electrical then t_he system stops, oiII temperature and noise

. maintain low level while being through the

unloading unloading.

GB type : 02-283 1.By adding a relief valve and solenoid control

R t pMa valve on the compensator makes pump have both
emote pressure +hs function.

compensator :@T" 2.GB control is for Z-stage working pressure under

+ 2-stage pressure _T@T the constant cylinder speed.
control =

=23=Included

PL PH

——

Select PL or PH to be high pressure

Copyright@202L-YEOSHE-ALL RIGHT RESERVED.

dwnd uoisid [eixy A ﬂ




dwnd uoisid [eixy A a

www.yeoshehydraulic.com

Control type

Controls Symbol Characteristic Specifications
GC type: ’Eén : < 1.Control two different-stage limited pressure by
t I soL SOL adding solenoid valve and unloading function.
Remote pressure I "OFF"| "ON" 2.When the system stops,oil temperature and noise
compensator Q } maintain low level by unloading function.
+ Electrical @ | 3.Adapt for stable cylinder speed,2-stage
. . | pressure,and long unloading situation.
unloading S '
@ib‘ ! PL PH
+ 2-stage pressure Sy

control

3= Included

Select PL or PH to be high pressure

HQ type:

Load-sensing

compensator

+ Proportional
flow valve

+ Relief valve

o—>

1.HQ control with load-sensing and proportional
flow control.

2 By electric input singnal to adjust pump displace-
ment,and the flow is controlled by electric modular
control.

HK type:

Load-sensing

compensator

+ Proportional
pressure valve

+ Proportional
flow valve

1.HK offers the smallest pressure and flow
according to different requirement.

2.The displacement is nearly zero when the system
stands by,and the motor output is also nearly zero
to saving energy.

3.When the system reaches setting pressure,the
pump displacement will reduce by itself.

It only needs to add the system required flow,and
the pressure remains the same which control the oil
temperature.

4.Compared with vane pump,gear pump+PQ valve
can save 30-50% energy.




Dimension YEOSHE

V15A, V18A Standard pressure control (Custom made)

INC.
Pressure adjustment
Flow adjustment 196.8 4.9 !
48 [14.76:3°*x32
Drain Port: G 3/8" 18 9w 44 Filling port
DEC. Slos 4-g11
B 6 g Ouo-) 2-M12xP1.75
@] W T 50 5 :
- & o
S 20 o
o . i: 1 ) o 3 7 o
e o & o5 e
3
)

" 4-M8x20 J

@25

= A

1
| 13 190
o - 105.6

147
131
173 Outlet @25 165 Inlet @125

V15A, V18A Standard pressure control (SAE A 2 bolt) Please following order code no.12

(X5 I [ I I [ EN

INC.
Flow adjustment 196,8 445 Pressure adjustment
Drain Port: G 387 4.76'5"x32
- 18 g w Filling port
DEC. 6 | [oS|os
0| v I
ol v —
e g 2 -
~—| N 4 Ire)
S ?9 =
ﬁ: 1 D o < o
_L o5 e FJ AN
: — | 8
S p
0 B o
H Qf \l ©

1
35.1 —1——1—3 105,6

147 131
173 Outlet @25 165 Inlet @25
V15G, V18G Remote pressure control
Remote pressure port: PT 1/4
Drain port : G 3/8" DP adjustment screw
! 196,8 44 5 (Warning: don't adjust)
DEC. Flow adjustment %65
——04.76 57°%32
r 8l w y Filling Port
NI 2-M12xP1.75
Yo}
© = 1
= ©
© © (s} Q|
Q e 3§ 3 = S ol >
S =
4 it L
o
© © A ©
' 4-M8x20 !
090
131 ¢ 25— 705.6
Outlet ¢25 112; Inlet 25

Copyright@202L-YEOSHE-ALL RIGHT RESERVED.

A-9

dwnd uoisid [eixy A ﬂ



dwnd uojsid [eixy A a

Dimension

V15HL, V18HL Load-sensing control DP adjustment screw
(Warning: don't adjust)

Drain port : G 3/8" 44 ; ;
\ \ 196,8 44 5 load sensing port High pressure adj.screw
Flow adjustment
DEC. ——04.761%%32 Filling port
] Sl e
6 Seoc
2{ liTo}
® g i 0
© s & © —_—
1© @] 3 N = g 8@ / \ 72 @
] @ % _ . %2 A ||
d & — o IQJ \; o
©
© © /L[:l:[:' __ 1 ' a1 \_/ ©
T 4-M8x26—/ | | 13
5/ 35,1 |13
131 $2 - 147 105,6
173 Outlet $25 131 Inlet $25
164,6
V15B, V18B Multi-stage flow & Single-stage pressure (Remark : Install with A type control)
control (with cylinder) O
INC.
Pressure adjustment
' 374 44.5 “ Filling port
48 ——14.7633x32 ‘—‘
Drai ) " 18 & w©
RC1/4 rain port: G 3/8 p og oS _
2] 0
o « < [}
L g ~N o o <]
N I z 21
[ - 3 o3
T 14D, — R S 8
@25 \_q: S €
Hydraulic 4-M8x20 J
cylinder | 35,1 13 105,6
f 147 131
Outlet $25 Inlet 25
173 Ut Yeo 165 NI ¥eo

V15C, V18C 2-stage pressure & Flow control

Filli rt
fiing po Low pressure adj. screw
270 44,5 \
: . " High pressure adj.screw
Drain port: G 3/8 48 -
18 04.76:5°°x32
| = T

Low flow adjustment

DEC.  High flow adjustment

|33

&
o 6 ogog
o 8 e - o o
k_l_ka:. g b N K\ go| 2
0 B nks
~ 3 z E‘Tj f@\ c
5 oS =
gl a}*&%/é‘ 2
o ©
o25— 7 T 8 NS }/\
| —/
4-M8x20 L 35 1 1056
Outlet @25 131 Inlet @25
165

www.yeoshehydraulic.com



Dimension

YEOSHE

V15CG, V18CG 2-stage pressure & Flow control + Remote

Low flow adjustment

DEC.

High flow adjustment

270

Filling port

Remote pressure port: PT 1/4

445

Drain port:G 3/8"

\

(Warning: don't adjust)

Low pressure adj. screw

DP adjustment screw

112

4.76:5%%32
w
[ T
OCIS o:ls
gl e ©
@ < - <
sl © R - o
s;T A %2
N~ -
- :; ‘ i . @ . l@ﬁ\
© NV
b 4 o
o25—"|/ ] - §&4§ @
4-M8x20—/
13
I_._| <=y — 105,6
Outlet $25 131 Inlet $25
185 - 165 -

V15CR, V18CR 2-stage pressure & Flow control + Low tension unloading

Low pressure adj. screw

276

High pressure adj.screw

Low flow adjustment illi
j 270 44,5 Filling port High pressure adj.
DEC. High flow adjustment Drain port:G 3/8"
o 48
18 04.76:6°°x32
o 8 w
6 o| =
1o
- o 3 ﬁ_ —
s R CENL v
0| dO
Y I3 Fe
P 3 /\ —
N = T AN
Pt : \2)
A Y - 3 e
\&4/
4-M8x20 —/ | | |
131 35,1 13
) T T
147 105,6
Solenoid control valves 185 Outlet $25 131 Inlet $25
OFF:Low tension unloading 165
ON:2-stage pressure & flow control
V15D, V18D Low tension unloading + Pressure control
Low pressure adj. screw
O High flow adjustment Filling port

DEC.
Solenoid control valves

Drain port: G 3/8"

()

‘\_

Tt 04.7615°°x32 —— INC.
3l
g o ©
o oS —
gl e o | ©f
\_] 2| & T 2l &
[ N o <
g S - y
by S Faia)
e | °g ANV
5 ;g» N T
@25 — st &//\
4-M8x20 —/ |
35,1 (13 105,6
' 147 134
185 Outlet $25 Inlet $25
165

dwnd uoisid [eixy A ﬂ

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.



Dimension

()

INC.
Low pressure adj.screw

V15DG, V18DG Low tension unloading + Pressure control + Remote
Remote pressure port: PT 1/4

Filling port

High flow adjustment

276

Drain port : G 3/8"

DEC.  solencid controlval&\

44,5

o] 48
O 18

o

04.7615%°x32

DP adjustment screw
(Warning: don't adjust)

33

dwnd uojsid [eixy A a

v
S| 2
. 6 SPg
| v = ©|
o = - =
o HEZ ol & Rl % o I
| 9 3 ‘i:l= | Q - go
QeI T |y fﬁ§-~ :
T ¢ — b VanY
el D | R
7 64 © - (=3
o2s— ¥ T [ : S E&ﬁé\ i
4-M8X29—/ L 13
-l—u351147 —L«— 105,6
185 Outlet $25 131 Inlet $25
- 165
V15E, V18E Electric 2-stage pressure control
Low pressure adj.screw
276 Filling port

DEC. High flow adjustment

Solenoid control valyes

Drain port:G 3/8"

High pressure adj.screw

— ——04.76%7°x32 _ Q
gl w INC.
Ol s |5 -
—\“E' ° gg 0 g ﬁ
. - 5 _L OE HT @5
@25—gv/ ;" +i| = § %g&éiw i

4-M8x20—/
L 35,1
147

185

103
Outlet $25 131

\ Inlet $25

V15EG, V18EG Electric 2-stage pressure control + Remote

()

INC.

Remote pressure port: PT 1/4 .
Low pressure adj.screw

i ; Filling port
High flow adjustment
DEC;l d control val 276 DP adjustment screw
olenoid control va ves—\ Drain port: G 3/8" (Warning: don't adjust)
44,5 [
Q| |° [14.76:8°x32
o g e f
- 6 oglod
8 o)
~ | o § B/ o
- © - l° S ?'o
N | LIE b
BTFT'* N e 9 L ,@y\
ERTAP SN N/ ;,E Mo
N\ o
25— | - \&4/
4-M8x20:
| 35,1 _L_.1_3 105.,6
f 147
Outlet $25 131 Inlet $25
185 - 165 -

www.yeoshehydraulic.com



Dimension YEOSHE

V15F, V18F Electric 2-stage pressure control & Flow control

Low pressure adj.scre

>

Solenoid control valves

Filling port / _
O Low flow adjustment '\ Drain port : G 3/8" / High pressure adj.screw
DEC. High flow adjustmen 276 \ 44.5 10025 O
|\ 48 o— 04.7618%°x32 ] -
TR 5 & o Qb INc.
O s B g
o w0 w (o) - Q
ol o ol © )
e | o & Fe| ~
™ —
:,\:j[7 -r_ IR o§ gr 163\
— g B
T Al & a}é \J a . 3
25— ik = NS=Z\
4-M8x20 — | 105.6
35,1 13 "
147 Outlet $25 1163:11 5 Inlet $25
185 *
V15FG, V18FG Electric 2-stage pressure control & Flow control + Remote
INC.
Selenoid control valves Remote pressure port: PT 1/4 Filling port Low pressure adj.screw
Low flow adjustment 276 DP ac_!justment screw
BEC. High flow adjustment e (Warning: don't adjust)
04.76.0 ~ x32
-
™,
© L
o
© - 5 =
ole 0O | = f\ e
E e == ﬂm
T : \Z)
. S]] o >\¥ Ja 8
© © $25— 8 NN/
| 4-M8x20 —/ 1056
131 Outlet $25 131 Inlet $25
164.6
V15GM, V18GM Remote pressure compensator with NG6 interface
NG6 DP adjustment screw
Eo@ + . + h (Warning: don't adjust)
Drain port:G 3/8" |©@® 4 ° +
196,8 445 r0025 40 Filling port
04.76+07 " x32
48
18

0
21,15 -0.15

¢ 19,05 -0.025

0

4 82,55 -0.05

iy
i

'-Iﬁ'-’I L 105,6

Outlet $25 131 Inlet $25

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.

dwnd uoisid [eixy A



Dimension

V15GJ, V18GJ Remote pressure compensator + Proportional pressure valve

40
196.8 445 DP adjustment screw
O 48 — (Warning: don't adjust)
X,
D
O,
)]
—
@)
-]
©
(-
©

DEC. Flow adjustment 18l Proportional pressure valve

Drain port : G 3/8" /— o q
||:]| I[_ / 04.7613°°x32 CD
6

Filling port

o g |l

0

$ 19,05 -0.025
0

21,15 -0.15

253,5

84
+0.3
89,5

110

2535

o
o)
©

57,45

0

ot o
1

~
[3p)

® | ®
. 4-M8x20 —/

131 ¢25

G
D
il

105,6
13 :
35,1 — Outlet $25 131 Inlet $25

173 165

V15GR, V18GR Remote pressure compensator + Electrical unloading

Pressure adjustment O 40

INC.
. . 205 44,5 — DP adjustment screw
DEC. Flow adjustment 48 (Warning: don't adjust)
Solenoid control valves —\IDI—- ]I/__ Drain Port:G 3/8" JC)L
O EI Filling port
14.76 *§%%°x32
Relief valve ] 15—3 g e 5 * _
0| e
g E : g e N % ©
O — | 2 Sz N\t
0 L —
© 1 / E ANk
Il ) g ~H T 3 T\ Y /T
©
=L ‘& é?
131 |18 105.,6
Outlet $25 131 Inlet $25

165
V15GB, V18GB Remote pressure compensator + 2-stage pressure control
O , 205 44,5 O 40
INC.
DEC. Flow adiustment Drain port: G 3/8" 4?8 _ ) DP adjustment screw
s f _ High pressure adj.screw (Warning: don't adjust)
olenoid control valves_ujI ”E r Low pressure adj.screw
O . Filling port
EI \ | -004.76'3%%°x32
5 )
Relief valve / © \ 6 Og og % )
8 8% g 8 ﬁ < oco| @
© o | gt 2 i s ' BN
() (5 sl & /\ -
e | g s i 1 )
: o ot (T - \ 3
: el o/ T R SSS
) T - = / 105,6 \
4-M8x20/ 35.1 ——-I—-Jé Outlet $25 131 Inlet $25
131 ¢25 147 165
173

www.yeoshehydraulic.com



Dimension YEOSHE

V15GC, V18GC Remote pressure compensator + Electrical unloading + 2-stage pressure control
. 205 44,5 O 20
. 48 INC. ;
DEC. Flow adjustment 1 High pressure adj.screw w
Solenoid control valves T ]l" ] o~ (Warning: don't adjust
Low pressure Adj.screw
=N | \ | Filling port <
% = —04.76'39%5x32 >
Ny © -
Relief valve / \ 6 | /oc|os R ——— <
Ld w N [Te) —
g QI < = Q)
® — g i i —
© gl_ T 1 < z - ; - o
il Il BT 18 T ) g 3 0
el | :
I | I S -
4-M8x20 o
| 13 Outlet $25 131 Inlet $25 >
131 ¢25 165 o
-
©

V15HQ, V18HQ Load-sensing compensator + Proportional flow valve+ Relief valve

DP adjustment screw
(Warning: don't adjust)

e Proportional Flow Drain port:G 3/8" 44 High pressure adj.screw
' Control 014.76 139%5x32
Flow Adjustment -
[ Filling port
Yol
gl @
°glos 3
L r
® < o| < & © o
& S8 3 *2l 8
< = T
g] O © R E ﬁﬁ
— . 3
© © ©
T
Outlet — | 13 105.6
131 85 Threads code 140 — 85 131’ Inlet 25
10 : PT(RC) 1/2" 173 233
50 : NPT 1/2"

V15HK, V18HK Load-sensing compensator + Proportional pressure valve+ Proportional flow valve

Proportional pressure )
valve DP adjustment screw
(Warning: don't adjust)

Proportional pressure Drain port : G 3/8"
valve _I 333 ] Drain port . ’
O %65 445 0476 0% x32 High pressure adj.screw
DEC.  —r [
Flow adjustment 1 © T -
El: ql » Filling port
6 /R3S
7= | ﬂDj vl ©
@) O of - @
. = 3 i g I S
7
N 0 C1hda h = = N N
- %5 Q1 br
ELE = i % 9
X = ; g
] o
] 125
131 69 Outlet 13
Threads code 198 105,6, Inlet $25
131 131 10 : PT(RC)3/4" 223 76,2 131 -
! 40 : G3/4" 224
50 : NPT3/4"
(Flange attached
in package)

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.



Dimension

V15,V18 Thru drive (SAE AA $50.8, code C )
Thru drive (SAE A ©82.55, code D )

K2 53 N Y| N I
K5 e [ Y

()

DEC.

DEC.

Drain port: G 3/8"

INC.

dwnd uoisid [eixy A a

185 445 Pressure adjustment
Flow adjustment Flow adjustment 48 +0.025
U476 +0 x32
9T DP 16/32 9T DP 16/32 19 0 Filling port
ANl ©
ol <«
- 6|/ odloo 2-M12xP1.75
o ol -
o
ﬁ ﬁ S| S 8 - D @
= b\ Z Cﬁ £
| | = 3
+0.05 J
$50,8 0 35,1 13 I']:|09506
146 " Inl
-M10xP1.5 Ogget 131 n295t
. . 185 225 | 165
Thru drive 2 pump Thru drive 2 pump
D : SAE A $#82.55 C : SAE AA 950.8
Type A B C CG | CR D DG E EG F FG G GJ |[GM | HL | HK | HQ
QO Thru drive option| O O O/ 0O0 0O O O ool O0o 0O
V15, V18 Splined shaft type V15, V18 Inlet / Outlet
37,5 37,5 31,1
_—_I_ﬁ _—_li 6 Outlet Inlet Inlet
] q 35, 24, 135, 24, 135, 50,8
o o . n N
|| og| || oo oo o [®~P ol (& ~9® D D _
u o [ d [ Be 4 | ® 4| ® . =y
] S N CAR G eTe [[
= s s Ll
T 2 2 13,5 Threads code Threads code %/
AT TR S
318 318 25.1 BONPT 340 BONPT 340

S: 13T DP16/32 S: 11T DP16/32  S1: 9T DP16/32

www.yeoshehydraulic.com



Dimension

YEOSHE

V23A, V25A Standard pressure control

DEC.

193

182

Drain port : G 3/8"

Flow adjustment

$25

52,4

4-M10x16

INC.

Pressure adjustment

223 58,5 06.35:0%° x40
51 2w ’—-‘39 Filling port
19 ogog _
9 ol 8
] g o T
ml S 2 - g° 15}
] I ) ol < | o
/ =g € o
= o . —T
5 o
S} ©
|7 i L =
14
262 - —-l—"_ Outlet_#25 146 Inlet
182
200

25

V23G, V25G Remote pressure control

Flow adjustment |

182

Drain port: G 3/8"

223 \

Remote pressure port : PT 1/4

FE
$- 4

;51
1

58.5

23
116

(Warning: don't adjust)
06.351§%x40

Yel
N| O
B ]
B A
- 9 |/ &
= d
o
— = NI 0|
] ! AS) X
| I— ] ~
oo
- — ©]
)
Ii i o

26,2

170

200

|| 1a

Outlet #25

DP adjustment screw

39

Inlet $25

V23HL,V25HL Load-sensing control

O Flow adjustment

DEC.

Drain port: G 3/8"

223

182

¢ 22,2 S0z
25,08 015

Load sensing port:PT 1/4

DP adjustment screw
(Warning: don't adjust)

High pressure adj. screw

06.35 1% x40

)]
&
8 «
o3
©
=
o
Outlet $25

Inlet 25

dwnd uoisid [eixy A ﬂ

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.



dwnd uojsid [eixy A a

Dimension

V23B, V25B Muti-stage flow & Singe-stage pressure control (with cylinder)

Pressure adjustment

Drain port : G 3/8" INC
| 420 58,5 0 6.35:8° x40
RC1/4 51 § © 39 Filling port
8 oS -
! 9 )
ohn N| ©f _
s ol © @
— s T s ™ S 78| o
- L] of g ol ©
© ®25 N4 og| + -
s St =
- 4 5 8
< AS
| B ] =
Hydraulic 14 T
cylinder 26,2 Outlet #25 146 Inlet #25
4-M10x16 170 _—
182
200
V23C, V25C 2-stage pressure & Flow control
Low pressure adj.screw
Low flow adjustment
Drain port: G 3 /8" . .
DEC. High flow adjustment P Filling port High pressure adj.screw
290,5 \ 58,5 06.35:3% x40
51 & w
(o} 1 Slos s INC.
o & | o8 -
T | W «
C — o N © gol e
— / S N 0l
A os ©
_f\;@ 4@; p— o . -
$-4 S 3
AL - = i
A ~
| 14 j
MoK 26,2 | Outlet #25 146 Inlet ¢25
182 I —
170 182
205
V23CG, V25CG 2-stage pressure & Flow control + Remote
Remote pressure port : PT 1/4 INC.
Low fl diust ¢ \ Low pressure adj.screw
ow flow adjustmen 2005 58.5
DEC. High flow adjustment Duain port : G 3/8" Filling port DP adjustment screw

4L

.|_

266

$22,2 -0.025

06.35:8% x40 4\

182

www.yeoshehydraulic.com

° 51
o
o’— —
E-lr
¢25 +— 1\ *
N
N
. —H
4-M10x16, 26,2
— 170
205

(Warning:don't adjust)

_Inlet #25

[32]
o 2
P
8
S| &
3
[=X=)
<)
S 00|
AR ©
Outlet #25 146
182




Dimension

YEOSHE

V23CR, V25CR 2-stage pressure & Flow control + Low tension unloading

Low pressure adj. screw

dwnd uoisid [eixy A ﬂ

Low flow adjustment 2905 585
* * . High pressure adj. screw
DEC.  High flow adjustment Drain port: G 3/8" M\
51
o 06.35:% x40 g
19 ©
o g o -
9 o =
S ANl
oo Y 8 0 o
oS 3 ]| w © So, ©
N N~ . FO| +~
— - 1 © N ©
© 0 O oo T
I N —1 «l{ @ —
925 _4+—T o = —_
~ N ©
S - - "
| 14
4-M10x16 262 Outlet #25 146 _Inletg25
170 182
Solenoid control valves 205
OFF:Low tension unloading
ON:2-stage pressure & flow control
V23D, V25D Low tension unloading + Pressure control
INC.
Low pressure adj. screw
Solenoid control valves
Duain port: G 3/8"
Flow adjustment Filling port : :
DEC. oW adjusim ) \ 297 58,5 006.35 %40 —\ High pressure adj. screw
| 51 2 o .
oll° {8 S ' i
T\e Ll e | 8 -
\ i ol| |
N| N
1 ASS ©
b — T g N
© oo
- —] <
®25 1 8 o
< = o
i Ii ©
% 3 ) T
_ || e
182 4-M10x16, 26'21 20 Outlet $25 146 Inlet #25
182
205

V23DG, V25DG Low tension unloading + Pressure control + Remote

Solenoid control valves

Flow adjustment

4-

Remote pressure port : PT 1/4

(Warning:don't adjust)

Inlet @25

297
\ Duain port: G 3/8" 06.35:° x40 Filling port
Q: O o 51 | 58,5 |
\ 9 oglos
NE
N d
g SEEE
- N =
8
°3
—1 | 1
925 4 s
] §_
% T
26,2 14
Mw 170 Outlet $25 146
205 182

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.



Dimension

V23E, V25E Electric 2-stage pressure control

INC.
Low Pressure adj. screw

Solenoid control valves Remote pressure port : PT 1/4

297

Solenoid control valves
O Drain port : G 3/8" »
< DEC. Flow adjustment i \‘ 297 58.5 06.35 :8-03 40 Filling port High Pressure adj. screw
51 o
> 3 Olde i |2
e 9
X N Br zn g
2. g
a 7
O FI E— s §
© D OOI
© L - ©
0 925 T =
N S
) 3 AL —=t
14
=) 182 4-M10x16 262 — Outlet @25 146 Inlet $25
170 -
© 205 182
(-
© .
V23EG, V25EG Electric 2-stage pressure control + Remote
INC.

Low pressure adj. screw

DP adjustment screw

Flow adjustment ) ] . 06.35:8°x40  Filling port
DEC. - \ Drain port : G 3/8 (Warning:don't adjust)
D: O o 51 | 58,5 . |
o 18] g o |
9 SIS] SIS
- o @ ‘H]_
© 1) yofeaim 8l g ol © 3
o © ) [~ — o N ©|lo . col| ~
= — 3 - 0
w-[ N4 oo e
. $25 4+ & S |
< ™ ©
C S UN.; =L A A
T T
26,2 _.I__.ﬂ
182 4-M10x16 II 170 Outlet 25 146 Inlet #25
205 182

V23F, V25F Electric 2-stage pressure control & Flow control

Solenoid control valves

Low flow adjustment Drain port : G 3/8"

()

INC.

Low pressure adj. screw

High pressure adj. screw

[o]
©

Inlet #25

DEC. High flow adjustment 297 58,5 006.35:3%x40 Filling port
51 Q6 \
8 cps
Lo |/«f8
INIRT)
N
— | o7 g
D @ 4@ i og N
‘ @ . —F ©l
) g
__l_ 14 '
262 Outlet 25 146
170 182
205

www.yeoshehydraulic.com




Dimension

YEOSHE

V23FG, V25FG Electric 2-stage pressure control & Flow control + Remote

Solenoid control v

alves

Low flow adjustment

Remote pressure port : PT 1/4

297 /

58.5

DEC. High flow adjustment Drain port : G 3/8"
\
ao|l° 51
9 18
T 9
© © [{e] )l —/ték"“
‘ ol 2 C
© oo ©) Y= ‘_‘[ _|| |
© Y
$25 /l?@ - ‘@
® © N i [ HH
T o __l_
182 4-M10x16 26'2170
205

16.35:8 x40  Filling port

INC.

(Warning:

'e]
N WO
=
~l &8
I
N g 8
S N
0,
)
o)
©f
-
o
-
is
Outlet 25

 don't adjust)

\__Inlet #25

V23GM, V25GM Remote pressure compensator with NG6 interface

DEC.

Flow adjustment

NG6

00 + , +
P
00 + ° +

b

223

Drain

port : G 3/8"

182

4-M10x16

P

06.3519 x40

I
—

0
-0.15

¢ 22,2 -0.025
25,08

110

200

D
A

170 _—l_

=

210

14

$101,6-0.05

DP adjustment screw
(Warning: don't adjust)

Filling port

Outlet #25

Inlet @25

Low pressure adj. screw

DP adjustment screw

V23GJ, V25GJ Remote pressure compensator + Proportional pressure valve

Flow adjustment

182

223
51 Proportional pressure valve .
) . Y 18 —— DP adjustment screw
Drain port : G 3/8 (—————
:]] +0.03 ] (Warning: don't adjust)
21'58.5 [16.35+0" x40
EI | 8§ o O Filling port
Slos
|— - — 9 |/ 3
Pty PN SJ © I
= o § &le
1] 0] AN
® o oS
(;@ ) — J -
| P S o
[ HF sl ©
14 '
——I— 146
%2 Outlet 25 Inlet @ 25
170 —_— et a9
182
200

dwnd uoisid [eixy A ﬂ

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.



Dimension

V23GR, V25GR Remote pressure compensator + Electrical unloading

O Pressure adjustment O
DEC. Flow adjustment { INC. 40
Solenoid control valves: — _@l Drain bort:G 3/8" T—

58,5 /— rain port: :E

DP adjustment screw

< 1 (Warning: don't adjust)
+0.03

> 51 / 9 %6'35” x40 % Filling port
» Relief valve F N og| oo
Q) © | AL9 [« 8 ©
D e L : | & —
o ¢ = 'R A = o R
—_ © ? ¢ o3 o
) L 1D L3 =

025 —1 T, _]1 S @ @
g %/ 1N =L NS
r o) 182 4-M10x16 26,2 | 14 146

170 Outlet @ 25 Inlet % 25

5 200 —— 182 —
©

V23GB, V25GB Remote pressure compensator + 2-stage pressure control

225 INC.
DEC. Flow adjustment |Prain port:G 3/8" 51 High pressure adj. screw 40
) L — [~ DP adjustment screw
Solenoid control valves — ; 7 — - =
Eﬁ 58,5, Low pressure adj. scrgw (Warning: don't adjust)
O § / [06.3535° x40
il 9 o Filling port
Relief valve ° f 1B o2les
l| o 9 £ Lho it 8 N
el g g a 5 _
o3 e T i =y - =
© > ® = \
T AN i —ﬁL g 7D
¢25—f: %, 4 J: S tﬁy 4 9
hsA
Parl T | N
182 4-M10x16 [1]262 | 14 146
2(:070 Outlet ¥25 182 Inlet @25

V23GC, V25GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

O . 225 Q

DEC. Flow adjustment  [Drain port:G 3/8" ,_51 High pressure adj. screw

Solenoid control valves

40
_ M . [~ DP adjustment screw
ﬁ \ j 58'5/ij‘ sorew (Warning: don't adjust)
1H T ]/ 06.3510 x40
[Te) -
Relief valve 1 S = 1 Filing port
[ E t o5 anb
O S T N Nl o g
(0] A - —} S = =
LOT N Eac _L o3
farY iy
P25—Fale 1o/ _[:J g
ks '
182 4-M10x16 26,2 |14
' 170
00 Outlet 25 182 Inlet @25

www.yeoshehydraulic.com



Dimension

YEOSHE

V23HQ, V25HQ Load-sensing compensator + Proportional flow valve + Relief valve

Drain port: G 3/8"

+0.03

272 06.35+0
116
[ 58,5
51 ©
DEC. NMEL g =
. [ele] (ole)]
Flow adjustment ' v
@ ) 9 || o
—— = &l S
N~ | ~N g
® ® ES 'EEE' | | L. S ©
— ! 10,
© le @ o3
— 1@ 10 1 Sammg
@ 2
© © | H S
14
. 2482 160 __l____
Outlet 200

Threads code

10 : PT(RC) 3/4"
40 G 3/4"

50 : NPT 3/4"

Proportional flow control

DP adjustment screw
(Warning: don't adjust)

x40 39
Filling port
(323
(32]
~ @ [
Ea Sa . oo -
- ol 8
L 3(®)s
—_—1
q 8
A ! ~
76,2 146
2482

V23HK, V25HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

DP adjustment screw
(Warning: don't adjust)

Proportional
pressure valve

284

Outlet

Threads code
10 : PT(RC) 3/4"
40: G 3/4"

50 : NPT 3/4"

Drain port : G 3/8"
\ 116

6.351%°x40

Drain port: PT1/4

39/ High pressure adj. screw

58,5 © T
§ e Filling port
. oQeS o
9 (| & @
N § —
T' g & S0 @ go
S ¥ ) *ol&
I R o ©
< itk L
§ - ©
L - § I \ ©
 — £ —
14 123 |
| 160 — 75 146 Inlet
200 D5
247

Proportional flow control

V23, V25 Thru drive(SAE A $82.55, code D)
Thru drive(SAE B ¢101.6, code E)

9T DP 16/32

Links E : SAE B ¢101.6

9T DP 16/32

EO0000-00E00 |5
EO00000-00800

Type

[a[B]clce[cr| D [pe]| E [Es| F [Fe] 6 |au[eMm|HL[HK|Ha]

-M12xP1.75

Flow adjustment

106

-M10xP1.5

Links D : SAE A $82.55

[o]oJofo] [ [ofofolo]o]o]
224 58,5 .
51 06.35:3% x40 Pressure adjustment NG
Drain port : G 3/8" Lo, :
18 g 2 39
s [o5|es ['—‘ Filling port
rim N &
= 58 e s
B s 79| =
— 1= o @
® © / og| = 2
_% — ©f T
X S 00
- L o) ©

26,2

170

222

dwnd uoisid [eixy A ﬂ

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.



dwnd uojsid [eixy A a

www.yeoshehydraulic.com

Dimension

V23, V25 Rear port ( Please flowing order code no.6,add“B” )

YEOOORO-00000 () seswousumen
[ 223 +0.03
() 58,5 [16.35:3% x40
oed Duain port : G 3/8", 51 & o
. ol «
\ 14 olos
: | 9 ~ 8
N[ [
N
— 1 ol o
i S
[Te) -~
q o
Inlet ——1 H <
Threads code Threads code 1
R a o e | Tl
50 : NPT 1" o 50 : NPT 3/4" - 182
194 232
B : Axial port

V23, V25 4 Connections for rear port ( Please flowing order code no.6,add“B2” )
K] 2 O { N {

Pressure adjustment

Duain port: G 3/8" INC.
Flow adiustment! 223 58,5 06.35:5°x40
DEC. 51 2w
cover R il og C,; _
/AR
N\ Dy o [ g i
IJ ”ll — N
© © 3 ! ASH RS2
a n] s | I 8. 8
] . . 4 L —] ©| L
© ©n© © g
Inlet M N I - -
Threads code 'IQr:thtlgds code © || 262 | 1 i
10:PTRO) 1" 210 10 : PT(RC) 3/4" T 00 i 146
50 NPT 1" 40:G 34" 224 182
50 : NPT 3/4" |
Pipe code B2 : 4 connections for axial port 210
(interchangeable for side and rear port)
Type A B (o] CG D DG E EG F FG G GJ | GM HL HK | HQ
O Axial port option O O O O O O
V23, V25 Splined shaft type V23, V25 Inlet / Outlet
42,5
9 Outlet Inlet
T | 26,2, .32, 1 26.2, 32
) |
o
| o3 — ]
=11— ; .
e ] N
e
22 Threads code Threads code
335 10 : PT(RC) 3/4" 10 : PT(RC) 1"
: 40: BSPP(G} 3/4" 40: BSPP(G) 1
50 : NPT 3/4' 50 : NPT 1"

S: 13T DP16/32




Dimension

YEOSHE

V38A, V42A Standard pressure control

INC.

232 58,5 Pressure adjustment
. . Y
DEC. Drain port : G 1/. oy — [16.35 2% %40 Filling port
Flow adjustment g ©
\ > bl
of 3 r
b Qf @ %
N 5‘| s N b colv)
- o 1 o= Folo
< ° 7S r [ 38 < o=
N Y @ T - 5 N -~
I . o’;. Pany o | O:.%’_
® M -
& & e N
© N~
®31 /10 | L -
30,2 ___l_ 14,5 146
198,6 4-M10x16 | 179 Outlet @31 160 Inlet #31
209 198,6
V38G, V42G Remote pressure control
Remote pressure port : PT 1/4
Drain port: G 1/2" DP adjustment screw
. 2323 585 (Warning: don't adjust)
Flow adjustment 119 ‘ 39
DEC. 51 06.353%x40 B
_ 14 © Filling port
N [Te)
9 Sl v
of X —
~ o
9| e © G| & Qo
& I 1 Q] &l 0 :.,j'
~ & @ = ol=
¥ ~,
[ ~| | 5 _L‘l °g )
te} ] -
& O =4 o~
hsy ~
o3 YOI | L -
30,2 —-I—-—'—14 5 146
4-M10x16 . Outlet @31
198,6 M10x16, 179 Outlet #31 160 Inlet @31
209 198,6
V38HL, V42HL Load-sensing control
Load sensing port : PT 1/4
DP adjustment screw
(Warning: don't adjust)
Drain port : G 1/2"
High pressure adj. screw
232 585
Q Flow adjustment 19 39
Deé 51 06.35:8%x40
- 8l © Filling port
N v
9 o| -
oQeR 3
- (\! S 1 _
- ! S & ro) g @
= o ol ool ¥
- = 'EQ ~— +|_0 ‘<2
Sl niAiivaiy IR b 3 °
N ©
ZH e —— 19 |
£ X : T
$31 duill S NN
14,5 146
198,6 } 30,2 —l—-—
4-M10x16, 179 Outlet @ 31 160 Inlet #31
209 198,6

dwnd uoisid [eixy A ﬂ

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.



dwnd uojsid [eixy A a

Dimension

V38B, V42B Muti-stage flow & Singe-stage pressure control (with cylinder)

(Remark:Install with A type control)

\ 4285 58,5 INC.
51 Pressure adjustment
) . " 06.357003 -
Drain port: G 1/2 y " LS-35 ¢ x40 39 Filling port
RC1/4 9 ol =
og|os _
. : 8 —
re) o 0
— 5 © S ‘ ol
o > 9 I B 2 ik
L3 ; N )
T AL b ©
0 ] )
ey = 4 Q
931 /10 | H—— =l
Hydraulic —
cylinder 30,2 14,5 Outlet 231 146
4-M10x16 179 utlet @ 160 Inlet 331
209 198,6
V38C, V42C 2-stage pressure & Flow control
Low flow INC.
adjustment Low pressure adj. screw
oeé High flow 294 58,5
’ adjustment . 51 06.3510% x40 Filling port High pressure adj. screw
Drain port : G 1/2"
—_— 1 0
§ e
o 2 os|os =
o o ® -
l N Y ©
AS ¥

243
73
5[,7
|
DA
4
0
101,6-0.0
243
0
13,5 0
122

i

AN D N
/1] | ~
¢31 —
302 14,5 146
198,6 4-M10x16 > Outlet #31 Inlet @31
11OX10 179 160 —_
209 198,6

V38CG, V42CG 2-stage pressure & Flow control + Remote

()

Low flow INC.
adjustment Filling port Low pressure adj.
High flow ! 294 Remote pressure port:PT 1/4 .
- DP adjustment screw
DEC. adjustment Drain port : G 1/2" 58.5 !
- 51 06.3518% x40 | (Warning:don't adjust)
-8- i Qv el
AER A= Phe -
R
N ) o N
g I E 59 ®
™ 1 [Ts) )|
= N lT'W H Nl oS h O
S 1 <
5o} N =
Sl li 2 R
931 [ W
6/ 30,2 _ || 1as 146 |
4-M10x1 179 Outlet #31 160 Inlet ®¥31
209 198.,6

www.yeoshehydraulic.com



Dimension YEOSHE

V38CR, V42CR 2-stage pressure & Flow control + Low tension unloading

()

Low flow I_INC. g

; ow pressure adj. screw
adjustment 294 58.5
High flow

High pressure adj. screw

adjustment Drain port : G 1/2" Filling port

06.3513% x40 7

51
1 Ire) &
| g -
[ 9 og|og
S 3 : ~
| w e o N
o 39 Fo| T
1 T 0|
_I_ o9 h O
| ) .
5 TR
| N~
14,5 146
4-M10x16/ 30'2179 Outlet @31 160 Inlet #31
Solenoid control valves 209 198.6
OFF:Low tension unloading *

ON:2-stage pressure&flow control

dwnd uoisid [eixy A ﬂ

V38D, V42D Low tension unloading + Pressure control

()

INC.
Low pressure adj. screw

Solenoid control valves

Flow 301 58,5
DEC. adjustment Drain port : G 1/2" 51 006.35:3% x40 Filling port High pressure adj. screw
E— | ©
N | 1
F 9 og o; g-
o B 9
S g O o
o © @ F9
[ 1 e o[
'\E ¢ _L o§ h h O
T @l | R(e)#
931 - =
30,2 __l_ﬁé 146
n : Outlet @31
198.6 4-M10x16 179 utlet @ 160 Inlet #31
209 198.6
V38DG, V42DG Low tension unloading + Pressure control + Remote
Solenoid control valves: Filling port INC. .
301 Remote pressure port: PT 1/4 Low pressure adj.
O Flow ] 585 DP adjustment screw
adjustment Drain port : G 1/2" e :
DEC. — 51 o0 (Warning:
2 - [16.35:% x40 | don't adjust)
=4 | & e 2l
9 oc|og)
N o]
ol <) [Te] N
N| © 0 [}
S N g B> ool ~
™ 1 0 - )
~ N % o [ os h O
= H ] <l - (&
[Te] S 1
(ﬂ =4 o~
$31 ﬂ]— H— =
/ o2 _||us [ 146 |
4-M10x16, 179 Outlet #31 160 Inlet @31
209 198,6

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.




Dimension

V38E, V42E Electric 2-stage pressure control

()

Solenoid control valves INC.

Low pressure adj. Screw

dwnd uojsid [eixy A a

Flow 301 58,5
i - High dj. screw
DEC. adjustment Drain port : G 1/2" 51 06.3550% x40 Filling port ghpressuread
EE— 19 ol o
Qll° = |o5|e3 El
o 1. L
! N o
) —| = ) Fo|
S ® 1 { el & s
~ ® Qw E Og h -
~ ] . ; B _|_ ©
i y E S b
] - Q
¢ 31 | B -
30,2 __l__.14_5 146
4-M10x16 179 Outlet #31 160 Inlet @31
209 198,6
V38EG, V42EG Electric 2-stage pressure control + Remote
Solenoid control valves Filling port INC. _
301 Remote pressure port : PT 1/4 Low pressure adj. screw
Fl
O dqw tment . 585 DP adjustment screw
Seé adjustme Drain port : G 1/2" 2 (Warning:
: 5 51 06.3553% x40 | don't adjust)
@) 18 © =
[se)
o 9 gl -
og|oo
N
N 3 [te] N
O l & 3 S So <
4] S N
® ® g ) o - [Te}
= N~ ® 0} E _L o9 D Q—
- ] . \ —F o
o A J f ) h
b, @ = N
® ® 331 ] | L
30,2 ___l___ﬁ 146
198,6 4-M10x16 179 Outlet @31 160 Inlet @31
209 198,6
V38F, V42F Electric 2-stage pressure control & Flow control
Solenoid control valves O
INC.
Low fl
agjwust?:;nt o5 Low pressure adj. screw
: 301 58, . .
O H|gh Flow | 4003 - High pressure adj. screw
DEC. adjustment Drain port : G 1/2" __1_5 06.3519%x40 Filling port
[ 9 l§ e
ol oslog 3l
Ao, N L
N ®
o e ® ool §
3| o I 5 N Yo ©
= = i = h O
= = g &
L) § 2 p Q
331 Tﬁ' H— S
14,5 146
4-M10x16 30’2179 Outlet $31 160 Inlet @31
209 1986

www.yeoshehydraulic.com



Dimension YEOSHE

V38FG, V42FG Electric 2-stage pressure control & Flow control + Remote

Solenoid control valves

Low flow - INC.
. Filling port
adjustment Low pressure adj. screw
High flow 301 Remote pressure port : PT 1/4
DEC. adjustment ] 585 DP adjustment screw
Drain port : G 1/2 ) o (Warning:
51 06.35%7x40 don't adjust)
ol e . |e =
N WO ™)
o 9 = "
oc|os
o 8
8 o 2l o, 8
© e 7
™) 1 ) ]
~ ~ Ad _L 08 h 2
H— N B !
ref —$- S p
., = N
3] ~
P31 e
30,2 _l_—_:_” 5 146
4-M10x16, 179 Outlet @31 160 Inlet »31
209 198.6
V38GM, V42GM Remote pressure compensator with NG6 interface
NG6
00 4+ , +
N
00 + ° +
DEC 232 DP adjustment screw
) 51 : .
Flow adjustment | Drain port : G 3/8" T 06.35:5%x40 (Warning:don't adjust)
585 § © Filling port
[ 9 |[e3|eo?
ﬂl— N 2 _
— N8 INBw 1o}
0 | © QY 7| »
™ 0 o]
~ N $ ﬂ W E i og h O
] _ﬁ} ——F ©
) KA : T
o1~ IO | ¥ - =9
14,5
30,2 —'l— 146
4-M10x16 | 179 __Outlet @31 160 Inlet @31
| nlet @31
209 198,6
V38GJ, V42GJ Remote pressure compensator + Proportional pressure valve
2323
Flow 51 Proportional pressure valve
adjustment 15 /
)\ Drain port: G 1/2" DP adjustment screw
1 06.358%x40 (Warning:don't adjust)
EI | 58,5,/ g o Filling port
g 9 [o5|e2
. N
® NS «
3 r = A E R E
™ 1 0 =~
~ N~ ® © W E _L og p Q
= JOR — E
o) _li 2 d o
¢31 / |—|:| - ) ——F
30.2 14,5 146
198.6 4-M10x1 179 Outlet Q31 160 Inlet Q31
209
198,6

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.

dwnd uoisid [eixy A ﬂ



dwnd uojsid [eixy A a

Dimension

V38GR, V42GR Remote pressure compensator + Electrical unloading

)

Pressure
o it . 232 adjustment INC.
DEC. ow adjustmen 571585 .
Solenoid control valves r !:D] ) _ O DP adjustment screw
q /—Draln port:G 1/2 (Warning: don't adjust)
|_;|A3 06.35:0%x40
Relief valve 15 g e Filling port
0 il _
43\ MR 3 o ]
& i g ¥ & g0 o
Er r 1 T i
N1 S
i el N gLy ([2| MRS 2|
9 — = ~
s il :I_—g_ "~
4-M10 16/ 302 145 Outlet / 146
198.6 - X 179 utlet @ 31 160 Inlet @ 31
209 198.6
V38GB, V42GB Remote pressure compensator + 2-stage pressure control
232 INC.
DEC. Flow adjustment |Drain port:G 1/2" | 51]58,5 High pressure adj. screw i
Solenoid control valves r i z DP adjustment screw
q \ l:]l] Low pressure adj. sgrew (Warning: don't adjust)
L / [16.3518% x40
] 0 -
Relief valve 18 S = Filling port
I
™ N ™) -
3 A NI 3 o
by L AN N — ™ 4
o ]’ S o go 2
@ 1 O] o <
™~ ® & S
S %\ E —L. °g 2
0 — =
> ¢ 2 N
-l - ;
31 —
4 M10X16/ 302 | 14.5 Outlet @31 146
- T e
198,6 179 u / 160 Inlet @ 31
209 198,6

V38GC, V42GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

@,

DEC.
Solenoid control valves

Flow adjustment

232

343

73

]\
L ]

Y

Drain port:§ 1/2"

INC.

High pressure adj. screw

58,5

oo
e \

[16.3515% x40

¢22,2m|
25,089 15
343

®31

! 198,6

4-M10x16

www.yeoshehydraulic.com

™~ "fh0 W E |
0 Q) ‘EJ—I
/ | —
/ 30,2 | 14,5
179
209

$101,6-0.05]

DP adjustment screw
(Warning: don't adjust)

Outlety31 _/

Filling port
)
o)
N
N~
e ]
146
160 Inlet @ 31
198,6




Dimension YEOSHE

V38HQ, V42HQ Load-sensing compensator + Proportional flow valve + Relief valve

DP adjustment screw
(Warning: don't adjust)

280 High pressure adj. scr&w
119 {283 39
_Drain Part: G 1/2" 51 06.35:% x40
Deé ( 1 © Filling port
Flow adjustment 9 s Q
oQel 3
§ 3 3
< NS < ©
& E_| S o g E _C'_>o [Te)
= | h £ - vl @
[® ® N [ g g o -
W o | °9 :
®/® Il S g AN
4 H ol ~
L AN
Outlet __l__ﬁ.S_ 146
Threads code 148.5 Inlet
10 : PT(RC) 1" 209 75 160 31
40:G 1" ] 262,3
50 - NPT 1" Proportional flow control .

V38HK, V42HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

DP adjustment screw
(Warning: don't adjust)

Drain port: G 1/2"

Proportional ) 292 1 \

High pressure adj. screw

pressure valve V119|282 16.35 3% x40
S 51 .
! 9
o0
9 og o; g
N8 7 _
N
| © |
= oY NI
° e zH-L
ro - T -
|
. 148 rl-ﬁ 146
Outlet I-—'_—zog Drain port : PT1/4 140 Inlet
s | —= A ||\
40:G 1" Proportional flow control 262
50 : NPT 1"

V38, V42 Thru drive (SAE A ¢82.55,code D)
Thru drive (SAE B ¢101.6,code E)

VBl ]I — ] ] | Twe [ a8 [c[ce[cr[o [o6] e [eo| F [Fo[ 6 [os[om|n[mk[nal
MEOOOOO-0O00B00 [OThudiveopion [O| | | | |oJoJolo| | |ofofo]olo[o]

Pressure
232 583 adjustment O
: . w51 .
Drain port : G 1/2 06.353% x40

6
)
e
o

DEC.
14T M1.25 14T M1.25 Flow adjustment 9

o

[so]
o

0_ A 0- o : o ____c@oj_ T '
(K J) (] - ©

— — 0 —
+0.05 +0. |
$1016 0 982,550, ] \ 30’2174 | 1145
146 -M12xP1.75 106 -M10xP1.5

231
Links E : SAE B $101.6  Links D : SAE A #82.55

>
0
$22,2 -0.025

210

0
$101,6-0.05

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.

dwnd uoisid [eixy A ﬂ



dwnd uojsid [eixy A a

Dimension

V38, V42 Rear port ( Please following order code no.6,add“B” )
VA EE2 2 e O I

232 58.5 Q Pressure adjustment
o1 +0.03
Duain port:G 1/2"[~ 1. [6.35:0%x40
\ uain po 1 § X
. 9 | =
Flow adjustment Z Oi -
NI r
3 g
9
" |7 S

\ i
ad @ @
Inlet / 30,2 Bl 30.2 Outlet

Threads code Threads code 146
10 PT(RC) 1-1/4" 66.6 10 PT(RC) 1" 209 1986
40:G 1-1/4" 204 40:G1" . 241 '
50 : NPT 1-1/4 B i o 201 NPT 1

V38, V42 4 connections for rear port ( Please following order code no.6,add“B2” )
XV e O {  {

\ 232 58,5 Pressure adjustment

INC.
51 0O 6 35+D 03 40
Duain port : G 1/2" 1 - -99%0 X 39 Filling port
N [Te)
Cover plate oed 9 og o; )
Flow adjustment o ® _
2 o S
NG - P
© T © i °l e o™ 72| o
® -
© 9@ ¢ R o (| H L oo & 1
—1 . | B - | | ]
Outlet | b F
Inlet © ©|© © Threads code = L il N
Threads code ® I © 10 : PT(RC) 1" = H——=L ——F
10 : PT(RC) 1-1/4" 40-G 1" i 145 ==
40: G 1-1/4" 50 - NPT 1" 146
50 - NPT 1-1/4" 224 =202 -
179 | 198.6
Pipe code B2 : 4 connections for axial port 209
(interchangeable for side and rear port) 231 224
|l
Type A B C CG D DG E EG F FG G GJ | GM HL | HK HQ
(O Axial port option OO0 ]|0O OO0 O 0|0
V38, V42 Splined shaft type V38, V42 Inlet / Outlet
425 47
9 9 Outlet Inlet

D

!

[ [{] ]

¢>1016-805

|

[ ] ]
0

$101,6 -0.05
58,7

I . Outlet Inlet
— 23 — 27 Threads code Threads code
10 : PT(RC) 1" 10 : PT(RC) 1-1/4"
335 38 40° BS§3P(G) g 40 BSPR(G) 1114
50 : NPT 1" 50 : NPT 1-1/4"
S: 13T DP16/32 S1: 15T DP16/32

www.yeoshehydraulic.com



Dimension

YEOSHE

V50A, V70A Standard pressure control

306

57

DEC.
Flow adjustment

Drain port: G 3/4"

73,

33

®38 Cq

10

INC

Pressure adjustment

07.9418%x45

357

4-M12x25,

256,5
300

| & 74 Filling port
oglos
wn [to}
N 70y T
o 3 )
S o) g
0| 0 oof ~
o -
N~ N
N
-~ o
© 2
Outlet  #38 208 Inlet #3g
2615

V50G, V70G Remote pressure control

Drain port : G 3/4"

DP adjustment screw
(Warning:don't adjust)

Remote pressure port : PT 1/4

+0.03
Flow adjustment 017.94 +07x45
& Filling port
_ S -
og|og
LO| w0 -
N o)
| Yo}
™) [sp]
O S w0
<9 (3} 0 [se}
& @ G -3 &
of | S
S
$38 -
4-M12x25 o115
181
Outlet %38 208 Inlet 38
261,5
V50HL, V70HL Load-sensing control
DP adjustment screw

Drain port : G 3/4"

4-M12x25

(Warning:don't adjust)

High pressure adj. screw

Load sensing port : PT 1/4

306
57
+0.03
Z—07.94 %45 Filing port
10[ .2 N
OOI OOI ]
2| & 3|
3 o o9
5] — _OO [sp}
g - h* | ~
oo N L
~ - e
N
S \3 S
24
256,5
300 Outlet 38 208 Inlet #38
2615

dwnd uoisid [eixy A ﬂ

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.



Dimension

V50B, V70B Muti-stage flow & Singe-stage pressure control (with cylinder)

(Remark:Install with A type control)

dwnd uojsid [eixy A a

Hydraulic
cylinder INC.
511 57 Pressure adjustment
3, —[17.9473%x45 -
Drain port : G 3/4" —23 , S| 74 Filling port
WOl oglee
wn w0
N~ o o - =4
o @ 0|
asS S 3 ol 3
& a1 o§ ﬁ / =
o — gl N
S 8
#38 = S =
I 24
4-M12x25, | |.3857 .
256,5
300 Outlet 38 208 Inlet @38
261,5
V50C, V70C 2-stage pressure & Flow control
V50CG, V70CG 2-stage pressure & Flow control + Remote
Low i INC.
ow Tlow Low pressure adj. screw
adjustment 144 oW pressure ad: ©
- DP adjustment screw
High flow 409.4 57 84 Warnir{g:don't adjust;
DEC. adjustment 73 (CG type)
Drain port : G 3/4" 07.943%x45 Filling port
Remote pressure port: _ 33 § N | ) gp
PT 1/4 10|/ _Sf
(CG type) OE Oi g
N~
- v ©
o — g o Q
3 of of <
& ® © ol &
L o
© ~
[) %
$38 [
24
2615 4-M12x25, | 357
I : 256.,5
300 Outlet #38 208 Inlet #38
2615

V50CR, V50CR 2-stage pressure & Flow control + Low tension unloading

INC.
Low flow Low pressure adj. screw
adjustment 84 . .
O High flow ) 409.4 57 1-2%_" High pressure adj. screw
DEC.  adjustment Drain port : G 3/4"
73 +0.03
° +* oI9S Filling port
ol B\l § o T
3 I Tl B
° : I w| o 0| O _
© | N o
g g8 ¢ Sl
& (32}
g s 3 el
OO
=t f) - 5 g Ji S B
q < p 18
S -
$38 [ - |
_ | 24
4-M12x25, | 357 ~ _o115
2615 256,5 181
Solenoid control valves 300 Outlet @38 208 Inlet 38
OFF:Low tension unloading 2615

ON:2-stage pressure & flow control

www.yeoshehydraulic.com



Dimension

YEOSHE

V50D, V70D Low tension unloading + Pressure control
V50DG, V70DG Low tension unloading + Pressure control + Remote

DEC.

Remote pressure port:
PT 1/4 (DG type)

Flow adjustment

@

2615

Solenoid control valves

L 330,2 229
57 84
Drain port: G 3/4" | .73 017.9413%%45
S o
og|oo IS)
2°2 <A
N~
-~ [Te] e}
ol 8 o
gl o or <
! @ S
o o
3
=Y
$38 L
4-M12x25 35,7 _‘I_"_
256,5
300 Outlet #38

Low pressure adj. screwO

DP adjustment screw
(Warning:don't adjust) ~ INC.

(DG type)
Filling port

Inlet #38

V50E, V70E Electric 2-stage pressure control
V50EG, V70 EG Electric 2-stage pressure control + Remote

| 330,2

DEC.

Flow adjustment

Remote pressure port:

Drain port : G 3/4"

57

PT 1/4 (EG type)

@e

2615

Solenoid control valves

229
84
07.9413%45

e}
N
S| « .
se<| <[00
n 0
N @
-~ ['o} oo}
[52] o -
2 st g
= ™ A
') oo o "’g
oF N
© [V
sl
Ase -
4-M12x25 | 357 _"l_"_
256,5
300 Qutlet#38

Low pressure adj. screw
DP adjustment screw
(Warning:don't adjust)  INC.
(EG type)

Filling port

133,5

L R
18 0

100

Inlet %38

V50F, V70F Electric 2-stage pressure control & Flow control
V50FG, V70 Electric 2-stage pressure control & Flow control + Remote

Low pressure O

Low flow 229 = adj. screw INC.
adjustment Solenoid control valves DP adjustment screw
High flow \ 409 (Warning:don't adjust)
DEC adjustment \ | | 57, (FG type)
i — ; . W73 y
Remote pressure port: Drain port : G 3/ e —([17.9413"x45 N
PT 1/4 (FG type) .| i o . Filling port
) [ oy o
@il Y22 SHeIe ]
<| 9 )| o O
[ce] ol ™ [se] . S|
gm = ™ 8 g ?8 8
|0 ® @ g @ p =
L = —— N HE=
@ e e g h 18
$38 L [ =
24 =
4-M12x25 357 —H-2 0115
256.5 181 Inlet
300 Outlet $38 208 38
2615

dwnd uoisid [eixy A ﬂ

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.



Dimension

V50GM, V70GM Remote pressure compensator with NG6 interface

P adjustment
s 4 justment screw

(Warning:don't adjust)

DEC.
Flow adjustment , 33 07.943%x45
Drain port : G 3/¢" 57

Filling port

N
o2

0
¢31,7SE‘

- -
™| -
|
- ™)
™ ) ™
< ol o3| 8
B
hS)
P38
4-M12x25,
Outlet #38 208 Inlet $38
261,5

dwnd uojsid [eixy A a

V50GJ, V70GJ Remote pressure compensator + Proportional pressure valve

. 306 DP adjustment screw
Pr(l)portlonal pressure (Warning:don't adjust)
vave Drain port: G 3/4"<13,

33]
~ Q 07.946%x45 _
DEC. REESTEEN
Flow adjustment [ ogles
[ wl v
~ [sp] -
\ —F’: i
™ ™
1 by Q
™ [Te) ™
©l s 1fe.® od
o ]| ) 9/ . El' N
Z‘ ) by
38 |\ = —

35,7 ——l—*ﬁ

4-M12x25

— 2565
300 Outlet ¢38 208 __Inlet#38

261,5
V50GR, V70GR Remote pressure compensator + Electrical unloading
Pressure adjustment
306 INC.
DEC. 74 DP adjustment screw

Flow adjustment 73 | 57 /_Drain port:G 3/4"

] ] / +0.03

(Warning:don't adjust)

Solenoid control valves

EI / [7.94 15 °x45]
33 § ~ Filling port
| [, 10{=5|°=
gl & -
) <| 9 )
g 387 8o
3 @ 8 T /-
2 = < N7 p
U SR M/ ,O/ T [N 24 h o
A ° ) (4 j 2
¢38 4]_ - NG =
/ 24 —
4-M12x25 35.7 0115
261,5 256,5 Outlet ¢ 38 181 Inlet 38
300 208
261,5

www.yeoshehydraulic.com



Dimension

YEOSHE

V50GB, V70GB Remote pressure compensator + 2-stage pressure control

DEC.

Solenoid control valves

Flow adjustment

306

High pressure adj. screw O

INC.
Drain port:G 3/ 73 |Low pressure adj. screw 74
33 / DP adjustment screw
. P (Warning: don't adjust)
D] +0.03
07.94:57°x45
= L[ o Filling port
10/ 503
: o8 r
3 ® gl o
@ | 8 b /
an e a7 .
¢ S TF 5 B o
) by \_9 €:/J_ 1] S
38 | —— : = 2
/ 24 — 1=
4-M12x25/ 357 e 0115
256,5 Outlet #38 181 Inlet @ 38
300 208
2615

V50GC, V70GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

)

DEC.

Solenoid control valves

Flow adjustment

306

Drain port:G 3/4"

High pressure adj. screw
73

DP adjustment screw

74
23 Low pressure adj. screw
[J:lyl — (Warning: don't adjust)
[07.94:3%x45
u%‘; S/ 8 o Filling port
I 103 &
2|
1w
=3 o
® | 8l |~
yARY 1 C’E
D P X N2/
9, S \9 4 _/J il =
@38 _/ I - g = -
24
4-M12x25—/ 357 0115
256,5 Outlet @ 38 181 Inlet #38
2615

V50HQ, V70HQ Load-sensing compensator + Proportional flow valve + Relief valve

DP adjustment screw

()

High press

ure

(Warning: don't adjust)

10 : PT(RC) 1-1f4" !
40 G 1-1/4"
50 : NPT 1-1/4"

valve

Proportional pressure

Drain port : G 3/4" INC. adj. screw
421
O \ 180,5 57
N ) 73 —07.9478x45
Flow adjustment = 10 g o~
2 2l 9 ]
- 5 8
ol by o @
[© ©
£ =mml :
L o
©
104 2
Outlet
314,8 Threads code ’ 3214

dwnd uoisid [eixy A ﬂ

Copyright @2024-YEOSHE-ALL RIGHT RESERVED.



dwnd uojsid [eixy A a

Dimension

V50HK, V70HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

(Warning:don't adjust)
Low pressure adjustment O

High pressure

Drain port : G 3/4" adj. screw
454 \

57 184

Proportional
pressure valve

DEC. 07.943%x45
Flow adjustment B Q I Filling port
0] o3|
Yo 0
Nl ™
| W
™ [se} ~
B
oo
— ,L
~N
s_
24
" 'IQ#uetd d 300
314,8 reads code
I 10 : PT(RCX 1-1/4" 321.4 : 134
40 : G 1-1/4" Drain port : PT1/4
50 : NPT 1-1/4" Proportional flow control 80 208
314.8

V50, V70 Thru drive (SAE A $82.55, SAE B ¢101.6, code D or E)

(Ml [ LI =0 RILIL
MEUOUO—0O0ECLL

INC.
S 306 57 Pressure adjustment
Flow adjuétment Drai .G 34" 3 [17.943%x45
rain port : 33 9 74 Filling port
1d Sl N
13T DP 16/32 13T DP 16/32 [SIS[SS
[te] [Yol
N[ o QY
~— v
4 52l [sp}
& hSS

(2] of W

) ) S B

. E MDY L) K °7 8

» o I &
40 1 ' ©f
+0.04 +0.05 24
$ 82,55 0 $101,6 0 T 2-M12xP1.75 256,5 =~
2MI0P1S Links D: 318
i Links E: 323
Links D : SAE A $#82.55 E : SAEB ©¢101.6
Type A B C |ICR|CG| D DG| E |[EG| F |[FG| G | GJ |[GM| HL | HK | HQ
(O Thru drive option | () OO 0|0 OlOlTO[O OO

www.yeoshehydraulic.com



B oo

Dimension

YEOSHE

V50, V70 Rear port (Please following order code no.6 add “B”)
(vl (el ] — I

()

INC.
306 57 Pressure adjustment
Inlet 19#“‘% ’ DEC. 73 0.03
Threads code reads code Flow adjustment ) N 9438
10: PT(RC) 1-1/2" 10 : PT(RC) 1-1/4" — | [Drainport:G34 33 o 7940 x45 74 Filling port
40: G 1-1/2" 40: G 1-1/4" S |
50 : NPT 1-1/2" 50 : NPT 1-1/4" og|oo
2 8
5 9 o 9
A © o W0 ‘02 . 1 ?O 8
Py & i "R T
—0 b ©
. — N~ N . ug
N
~ » (o) s ~ ¥ 8
269 0115
357 Axial port 295,5 181
Pipe code B : Axial port 300 261,5
357
Type A B C ICR/|CG| D |DG| E |[EG| F |[FG| G |GJ |[GM| HL | HK [HQ
O Thrudriveopton | O | O 1 O O O OO O O O OO O OO
V50, V70 Splined shaft type V50, V70 Inlet / outlet
55,5 Outlet Inlet
10
g 35,7 , 32 357 32 i
[
- D @ D @
) o o
— oo © ©
I = ~
— ——1 N
s - j@
| Threads code Threads code
3 10 : PT(RC) 1-1/4" 10 : PT(RC) 1-1/2"
229 40 : G 1-1/4" 40:G 1-1/2"
455 50 : NPT 1-1/4" 50 : NPT 1-1/2"
: 60 : SAE-20 (1-5/8"-12UN)

S: 14T DP12/24

dwnd uoisid [eixy A ﬂ

Copyright@202L-YEOSHE-ALL RIGHT RESERVED.



dwnd uoisid [eixy A a

www.yeoshehydraulic.com

Pump combination

Pump 1 | V15 (V18) | V23 (V25) | V23 (V25) | V38 (V42) | V38 (Vv42) | V38 (v42) | V50 (V70) | V50 (V70) | V50 (V70)
Pump 2 | V15 (V18) | V15 (V18) | V23 (V25) | V15 (V18) | V23 (V25) | V38 (Vv42) | V15 (V18) | V23 (V25) | V38 (V42)
A G 3/8” G 3/8” G 3/8” G 3/8” G 3/8” G 1/2" G 3/8” G 3/8” G 1/2”
B G 3/8” G 3/8” G 3/8” G1/2"” G1/2” G1/2"” G 3/4” G 3/4" G 3/4”
C 57.45 57.45 61 57.45 61 73 57.45 61 73
D 35.1 35.1 52.4 35.1 52.4 58.7 35.1 52.4 58.7
E 35.1 35.1 26.2 35.1 26.2 30.2 35.1 26.2 30.2
F 35.1 52.4 52.4 58.7 58.7 58.7 69.9 69.9 69.9
G 35.1 26.2 26.2 30.2 30.2 30.2 35.7 35.7 35.7
H M8x20 M8x20 M10x16 M8x20 M10x16 M10x16 M8x20 M10x16 M10x16
I M8x20 M10x16 M10x16 M10x16 M10x16 M10x16 M12x25 M12x25 M12x25
J 147 147 170 147 170 179 147 170 179
K 147 170 170 179 179 179 256.5 256.5 256.5
L 332 369 402 378 401 410 464 493 502
M 382 419 455 428 454 465 515 546 555
N 48 48 51 48 51 48 51 51
O 48 51 51 51 51 51 73 73 73
P 6 9 9 9 9 9 10 10 10
Q 4.76x32 6.35x40 6.35x40 6.35x40 6.35x40 6.35x40 7.94x45 7.94x45 7.94x45
R 13 14 14 14.5 14.5 14.5 24 24 24
S 219.05 ©22.22 022.22 ©022.22 022.22 ©022.22 ©31.75 ©31.75 ©31.75
T 21.15 25.08 25.08 25.08 25.08 25.08 35.35 35.35 35.35
u @82.55 @101.6 @101.6 @101.6 ©101.6 @101.6 @127 @127 @127
Vv @25 @25 @25 @31 @31 @31 @38 @38 @38
W @25 @25 @25 @31 @31 @31 @38 @38 @38
X 106 146 146 146 146 146 181 181 181
Y 131 146 146 160 160 160 208 208 208
z 165 182 182 198.6 198.6 198.6 261.5 261.5 261.5
Al 44 39 39 39 39 39 74 74 74
A2 31.2 31.2 31.2 31.2 31.2 31.2 40 40 40
A3 5 5 5 5 5 5 8 8 8
A4 84 110 110 121 121 121 119 119 119
A5 11 13.5 13.5 13.5 13.5 13.5 18 18 18
A6 44.5 58.5 58.5 58.5 58.5 58.5 57 57 57
A7 160 193 193 210 210 210 233.5 233.5 233.5
A8 91.5 93 93 113.5 113.5 113.5 133.5 133.5 133.5
A9 60 68 68 72 72 72 100 100 100
Pump 2 Pump 1 Q
Drain port B o) A6 INC.
O Drain port A N Al Pressure adjustment
=) oy A3
DEC. < Filling port
Flow adjustment l - 0Q#3% )
— = L
- | —| — 1 D - < ) o 2
© ® o M u / 8 < b 1&3
e O |8 O :
_$ 9 | Le;qej IR ’y- 2
E R J X
J K Outlet V Inlet W
Y e
L z
M




YEOSHE

Pump combination - coupling

Pump 1

Piston Pump

@ O-ring

=

ngg

iﬂj@

11 s
O I= ]
L, Q - [E\ O
T .=
Gear Pump -
mii ON
Coupling ‘— Adapter
shaft
Pump 1 Pump 2 ;
No ®Coupling
Model Model gA Shaft
15-1 V15,V18 Piston pump: V15~18, AR16~22 SAE @ 82.55 9T 16/32 DP COUP-V15+15
Gear pump: HGP-3A
23-1 Piston pump: V15~18, AR16~22 | SAE A @82.559T 9T 16/32 DP COUP-V23-1
23-3A Gear pump: HGP-3A Vane pump @95.02 13T 16/32 DP COUP-V23-3
23-5 Vane: F30,F40,PV2R1 Cylindric @19.05*4.76 | COUP-V23-5
V23, V25 —
Piston pump: V23~25 SAE B @101.6 Cylindric ©22.22*6.35
23-6 ) — . COUP-V23-6
Vane pump: T6C Metric @100 Cylindric ©@22.22*4.76
23-3B 13T 16/32 DP COUP-V23-3
38-1 Vane pump: T6C SAE A @82.55 9T 16/32 DP COUP-V38-1
38-3A Gear pump: HGP-3A Vane pump @95.02 13T 16/32 DP COUP-V38-3
38-5 Piston pump: F30,F40,PV2R1 Cylindric @19.05*4.76 COUP-V38-5
Piston pump: V23~25, V38~V42 SAE B @101.6 Cylindric @22.22*6.35
38-6 V38, V42 COUP-V38-6
’ Vane pump: T6C Metric @100 Cylindric @22.22*4.76
38-7 Piston pump: PV016~023 Cylindric @25.4*6.35 COUP-V38-7
38-3B Vane pump: PV2R2 13T 16/32 DP COUP-V38-3
38-4 15T 16/32 DP COUP-V38-4
70-1 Piston pump: V15~18, AR16~22 SAE A @82.55 9T 16/32 DP COUP-V70-1
70-3A Gear pump: HGP-3A Vane pump @95.02 13T 16/32 DP COUP-V70-3
70-5 Vane pump: F30,F40,PV2R1 Cylindric @19.05*4.76 | COUP-V70-5
Piston pump: V23~25, V38~V42 Cylindric @22.22*6.35
70-6 V50, V70 Pump SAEB 01016 Y COUP-V70-6
’ Vane pump: T6C Metric @100 Cylindric @22.22*4.76
70-7 Piston pump: PV016~023 Cylindric ©825.4%6.35 COUP-V70-7
70-38 Vane pump: PV2R2 13T 16/32 DP COUP-V70-3
70-4 15T 16/32 DP COUP-V70-4
oA @ Adapter @ O-ring
SAE A @82.55 23A-83-D G80
Vane pump @95.02 23A-83-G G95
SAE B @101.6 23A-83-E G100
Metric @100 23A-83-J G100

dwnd uojsid jeixy A ﬂ

Copyright@202L-YEOSHE-ALL RIGHT RESERVED.



dwnd uoisid [eixy A a

Pump combination - coupling

Depending 2nd pump to use( sna\;pv_rtiﬁlg or not \
. _ e : With snap ring
®Coupling @®Snap ring Piston pump: | Gear pump: HGP- |Vane pump: F30, Oy
V15~18, AR16 3A F40
COUP-V15+15 R13 ° ° ° --
COUP-V23-1 R13 ° ° =
COUP-V23-3 R20 ° --
COUP-V23-5 R20 ° M5 x8
COUP-V23-6 -- M5 x8
COUP-V38-1 R13 ° -
COUP-V38-3 R20 --
COUP-V38-4 -- --
COUP-V38-5 R20 ° M5 x8
COUP-V38-6 -- M5 x8
COUP-V38-7 -- M5 x8
COUP-V70-1 R13 ° ° -
COUP-V70-3 R20 --
COUP-V70-4 - --
COUP-V70-5 R20 ° M5 x8
COUP-V70-6 -- M5 x8
COUP-V70-7 - M5 x8
@ O-ring G55
@Pin @8x16 X2 nos
®Screw M8x30 x4 nos

www.yeoshehydraulic.com




B oo

YEOSHE

Pump combination - thru drive dimesion

V15,v18
L
B
H_ L F
K
V23~V70
L
L2 M
J
FA O
Pump 1 |[E=o L | Adapter —
| — =il | N ]
L § G @/@ ¢C
=SE E e Sl Te
: \ (]
H IA_AHQ &3 —+ g
H L LB 5
K F
Model 2nd Pump DA B ?C D E F G
V1518 SAE A ©82.55 8.35 -- -- -- 106.3 | M10xP1.5
SAE A ?82.55 8.35 @127 89.8 M10xP1.5 | 106.3 | M10xP1.5
V23~V70 SAE A ?»101.6 10 @127 89.8 M10xP1.5 | 146 M12xP1.75
Metric ®100 10 ?125 88.39 | M10xP1.5 | 140 M12xP1.75
Vane Pump| ©95.02 8.35 - 90 M10xP1.5 - --
Model K H J M L L2
V15,V18 33 13.5 9T 16/32 DP| -- 185 --
V23,V25 59 13.5 |9T 16/32 DP| 32 237 205
V38,v42 66 20 14T M1.25 32 241 209
V50,V70 64.4 22 13T 16/32DP 32 332 300

YEOSHE product specifications are subject to change with prior notic.

dwnd uojsid jeixy A ﬂ

Copyright@202L-YEOSHE-ALL RIGHT RESERVED.



Pump combination - thru drive dimesion %

View A
Pump 1 V15, Pump 2 V15

Pump 2 Pump 1 O
O p p N DEC.
Pressure adjustment
A3

DEC. N O . A6 qQ 0025
Drain port A Drain port B . P Dy

Flow adjustment Filling port

Ui

C
ol _°
A4
+0.3
A5 +0
A9

©
<

\InletW

|
ﬂ"

dwnd uoisid [eixy A a

'~
L T ete
D
|
T1 T[T
v[\Q
\ Y
R
C[D
;
0
U -0.05
A7

LA Outlet V

View B
Punp1 V23~V70, Pump 2 V15~V38

Pump 2 Pump 1 O

DEC.

O Pressure adjustment
A1
DEC. Drain port A N Drain port B 0 A6 oo 3
Flow adjustment - Q40 B Filling port
| RS | 2 o 2
— — 29 <9
T RErT e 2 2
|| aﬁ ]2 ?2 o
© © 0\ e & 3 < <‘
oD é ) == I e )
- \//0 "‘ng\/,“_ = — P )
> oo 1 > f
N ] INSEZ I
H 1 | = 1! |
EL [ J R — \
X
: = K Outlet V % Inlet W
LA
Z
L
M

www.yeoshehydraulic.com



Pump combination - thru drive dimesion

YEOSHE

Pump 1 Pump 2 A B C D E F G H | A
V15,v18 | V1518 | G 3/8" (RC 3/8") G 3/8" (RC 3/8") | 57.45 | 35.1 | 35.1 | 35.1 | 35.1 | MB8xP1.25x20 M8xP1.25x20
V23,v25 | Vv15v18 | G3/8"(RC3/8") | G3/8"(RC3/8") | 57.45 | 35.1 | 351 | 524 | 26.2 | M8xP1.25x20 M10xP1.5x16
V23,v25 | V23,v25 | G3/8"(RC3/8") | G 3/8" (RC 3/8") 61 52.4 | 26.2 | 524 | 26.2 | M10xP1.5x16 M10xP1.5x16
V38,v42 | V15V18 | G 3/8" (RC 3/8") G1/2"(RC1/2") | 57.45 | 35.1 | 351 | 58.7 | 30.2 | M8xP1.25x20 M10xP1.5x16 <
V38,42 | V23,v25 | G 3/8" (RC 3/8") G 1/2" (RC 1/2") 61 52.4 | 26.2 | 58.7 | 30.2 | M10xP1.5x16 M10xP1.5x16 ;
V38,42 | V38,v42 | G 1/2" (RC 1/2") G 1/2" (RC 1/2") 73 58.7 | 30.2 | 58.7 | 30.2 | M10xP1.5x16 M10xP1.5x16 Q)
V50,v70 | V15,v18 | G3/8"(RC3/8") | G3/4"(RC3/4") | 57.45 | 35.1 | 351 | 69.9 | 35.7 | M8xP1.25x20 | M12xP1.75x25 -c_;
V50,70 | V23,v25 | G3/8"(RC 3/8") | G 3/4" (RC 3/4") 61 52.4 | 26.2 | 69.9 | 357 | M10xP1.5x16 | M12xP1.75x25 (Z>|-
V50,70 | V38,v42 | G 1/2"(RC1/2") | G 3/4" (RC 3/4") 73 58.7 | 30.2 | 69.9 | 357 | M10xP1.5x16 | M12xP1.75x25 g
©

Pump 1 Pump 2 J K L LA | LB M N | O | P Q R S T u C
V1518 | V15V18 | 147 147 332 | 185 - 382 | 48 | 48 | 6 | 4.76x32 13 | ©19.05 21.15 | $82.55 _g
V23,V25 | V15V18 | 147 170 384 | 237 | 32 | 411 | 48 | 51 | 9 | 6.35x40 14 | @22.22 | 25.08 | ©101.6

V23,v25 | Vv23,v25 | 170 170 | 407 | 237 | 32 | 455 | 51 | 51 | 9 | 6.35x40 14 | @22.22 | 25.08 | ©101.6

V38,v42 | V15V18 | 147 179 388 | 241 | 32 | 438 | 48 | 51 | 9 | 6.35x40 | 14.5 | ¢22.22 | 25.08 | ®101.6

V38,v42 | V23,v25 | 170 179 | 411 | 241 | 32 | 464 | 51 | 51 | 9 | 6.35x40 | 14.5 | ¢22.22 | 25.08 | ©101.6

V38,v42 | V38,v42 | 179 179 | 420 | 241 | 32 | 473 | 51 | 51 | 9 | 6.35x40 | 145 | 2222 | 25.08 | ©¥101.6

V50,v70 | V15,V18 | 147 | 256.5 | 479 | 332 | 32 | 529 | 48 | 73 | 10 | 7.94x45 | 24 | ¢31.75 | 35.35 @127

V50,V70 | V23,v25 | 170 | 256.5 | 502 | 332 | 32 | 555 | 51 | 73 | 10 | 7.94x45 | 24 | ¢31.75 | 35.35 @127

V50,V70 | V38,v42 | 179 | 256.5 | 511 | 332 | 32 | 564 | 51 | 73 | 10 | 7.94x45 | 24 | ¢31.75 | 35.35 @127

Pump 1 Pump 2 Vv W X Y 4 Al | A2 | A3 | Ad A5 A6 A7 A8 A9
V1518 | V15V18 | @25 ?25 106 | 131 165 44 | 312 | 5 84 11 445 | 160 91.5 60
V23,25 | V15V18 | @25 | @25 146 | 146 182 39 | 312 | 5 110 | 13.5 | 58.5 193 93 68
V23,V25 | V23,v25 | @25 | @25 146 | 146 182 39 | 312 | 5 110 | 13.5 | 58.5 193 93 68
V38,v42 | V15V18 | @31 ?31 146 | 160 | 1986 | 39 | 312 | 5 121 | 135 | 58,5 | 210 113.5 72
V38,v42 | V23,V25 | @31 @31 146 | 160 | 1986 | 39 | 31.2 5 121 | 135 | 585 | 210 113.5 72
V38,v42 | V38,v42 | @31 @31 146 | 160 | 1986 | 39 | 31.2 5 121 | 135 | 585 | 210 113.5 72
V50,V70 | V15V18 | @38 | @38 181 | 208 | 2615 | 74 40 8 119 18 57 233.5 | 1335 100
V50,V70 | V23,v25 | @38 | @38 181 | 208 | 261.5 | 74 40 8 119 18 57 233.5 | 133.5 100
V50,V70 | V38,v42 | #38 | @38 181 | 208 | 261.5 | 74 40 8 119 18 57 233.5 | 133.5 100

Copyright@202L-YEOSHE-ALL RIGHT RESERVED.



